PROPOSAL: TIME & DATE: Water Bid Items		Contract No.: C-10-022-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job No. 10-5004 & 10-5504 2010 Water & Sewer Construction Project - Package 2 2:00 p.m. February 19, 2010		Holloman Corporation 13730 IH 10 East Converse, TX 78109		R.L. Jones LP 18946 Redland Road San Antonio, TX 78259		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		Pronto Sandblasting & Coating & Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		National Power Rodding Corporation 2500 West Arthington Street Chicago, IL 60612		Jimerson Underground Inc. 308 Brand Stafford, TX 77477	
water Bid	Items	Unit of	T						1				<u> </u>		
Item No.	Estimate Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	220.00	LF	Remove Concrete Curb	\$6.00	\$1,320.00	\$1.00	\$220.00	\$10.00	\$2,200.00	\$3.00	\$660.00	\$0.28	\$61.60	\$15.00	\$3,300.00
2	220.00	SF	Remove Sidewalks and Driveways	\$2.00	\$440.00	\$1.00	\$220.00	\$10.00	\$2,200.00	\$5.00	\$1,100.00	\$0.28	\$61.60	\$13.00	\$2,860.00
3	100.00	SF	Remove Miscellaneous Concrete	\$2.00	\$200.00	\$1.00	\$100.00	\$10.00	\$1,000.00	\$8.00	\$800.00	\$0.28	\$28.00	\$11.00	\$1,100.00
4	20.00	SY	Flexible Base (6" Compacted Depth)	\$10.00	\$200.00	\$20.00	\$400.00	\$25.00	\$500.00	\$18.00	\$360.00	\$18.40	\$368.00	\$24.00	\$480.00
5	20.00	GAL	Prime Coat	\$17.00	\$340.00	\$5.00	\$100.00	\$25.00	\$500.00	\$14.00	\$280.00	\$11.50	\$230.00	\$29.00	\$580.00
6	20.00	GAL	Tack Coat	\$17.00	\$340.00	\$10.00	\$200.00	\$25.00	\$500.00	\$14.00	\$280.00	\$11.50	\$230.00	\$29.00	\$580.00
			Hot Mix Asphaltic Pavement Type D (2"		·	-					·	-			-
7	2,400.00	SY	Compacted Depth)	\$9.00	\$21,600.00	\$8.00	\$19,200.00	\$15.00	\$36,000.00	\$22.00	\$52,800.00	\$28.75	\$69,000.00	\$12.00	\$28,800.00
	,		101.0	·		·					. ,	•			. ,
			Asphalt Treated Base - 10 Inch Compacted												
8	2,000.00	SY	Depth	\$36.00	\$72,000.00	\$54.00	\$108,000.00	\$40.00	\$80,000.00	\$63.00	\$126,000.00	\$63.25	\$126,500.00	\$48.00	\$96,000.00
	400.00		Salvaging, Hauling, and Stockpiling		* 400 00	44.00	** * * * * * * * * *	440000	***	440.00	44 000 00	42.20	422000		
9	100.00	SY	Reclaimable Asphaltic Pavement (2")	\$4.00	\$400.00	\$12.00	\$1,200.00	\$100.00	\$10,000.00	\$18.00	\$1,800.00	\$2.30	\$230.00	\$42.00	\$4,200.00
10	50.00	CY	Flowable Fill Concrete Curb, Gutter, and Concrete Curb and	\$80.00	\$4,000.00	\$200.00	\$10,000.00	\$150.00	\$7,500.00	\$140.00	\$7,000.00	\$154.10	\$7,705.00	\$121.00	\$6,050.00
1.1	120.00	I.E.		¢20.00	¢2.640.00	¢10.00	¢1 200 00	¢25.00	¢2.250.00	¢20.00	¢2 (00 00	\$25.65	£4.624.50	¢20.00	¢2.770.00
11	130.00	LF SY	Gutter Concrete Sidewalks	\$28.00 \$84.00	\$3,640.00 \$2,100.00	\$10.00 \$30.00	\$1,300.00 \$750.00	\$25.00 \$75.00	\$3,250.00 \$1,875.00	\$20.00 \$80.00	\$2,600.00 \$2,000.00	\$35.65 \$81.65	\$4,634.50 \$2,041.25	\$29.00 \$45.00	\$3,770.00 \$1,125.00
12 13	25.00 20.00	SY	Concrete Sidewarks Concrete Wheelchair Ramp	\$84.00	\$2,100.00	\$40.00	\$750.00	\$100.00	\$1,875.00	\$100.00	\$2,000.00	\$81.65	\$4,324.00	\$45.00	\$1,125.00
14	25.00	SY	Portland Cement Concrete Driveway	\$84.00	\$2,340.00	\$32.00	\$800.00	\$100.00	\$2,500.00	\$90.00	\$2,000.00	\$115.00	\$2,875.00	\$40.00	\$1,000.00
14	23.00	31	Portland Cement Concrete Driveway	\$64.00	\$2,100.00	\$32.00	\$800.00	\$100.00	\$2,300.00	\$90.00	\$2,230.00	\$113.00	\$2,873.00	\$40.00	\$1,000.00
15	20.00	SY	Commercial	\$106.00	\$2,120.00	\$35.00	\$700.00	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$119.60	\$2,392.00	\$50.00	\$1,000.00
16	4.00	SY	Concrete Median	\$89.00	\$356.00	\$40.00	\$160.00	\$250.00	\$1,000.00	\$100.00	\$400.00	\$172.50	\$690.00	\$134.00	\$536.00
17	4.00	SY	Concrete Directional Island	\$106.00	\$424.00	\$40.00	\$160.00	\$250.00	\$1,000.00	\$100.00	\$400.00	\$172.50	\$690.00	\$134.00	\$536.00
18	8.00	SY	Concrete Riprap (5" Thick)	\$78.00	\$624.00	\$40.00	\$320.00	\$100.00	\$800.00	\$100.00	\$800.00	\$115.00	\$920.00	\$134.00	\$1,072.00
10	0.00	- 51	concrete ruprup (c. rimen)	Ψ70.00	Ψ021.00	Ψ10.00	Ψ320.00	Ψ100.00	φοσο.σσ	Ψ100.00	φοσο.σσ	Ψ113.00	Ψ,20.00	Ψ13 1.00	Ψ1,072.00
19	7.00	CY	Concrete Retaining Walls - Combination Type	\$134.00	\$938.00	\$500.00	\$3,500.00	\$1,000.00	\$7,000.00	\$700.00	\$4,900.00	\$690.00	\$4,830.00	\$575.00	\$4,025.00
			Replacing with Hot Mix Asphaltic Concrete												
20	50.00		Pavement - Type B (5" Compacted Depth)	\$101.00	\$5,050.00	\$55.00	\$2,750.00	\$150.00	\$7,500.00	\$50.00	\$2,500.00	\$40.25	\$2,012.50	\$127.00	\$6,350.00
21	20.00	CY	Topsoil	\$123.00	\$2,460.00	\$20.00	\$400.00	\$100.00	\$2,000.00	\$30.00	\$600.00	\$23.00	\$460.00	\$24.00	\$480.00
22	80.00	SY	Bermuda Sodding	\$3.00	\$240.00	\$8.00	\$640.00	\$25.00	\$2,000.00	\$15.00	\$1,200.00	\$11.50	\$920.00	\$27.00	\$2,160.00
23	5,700.00	LF	Trench Protection	\$1.00	\$5,700.00	\$2.00	\$11,400.00	\$2.00	\$11,400.00	\$2.00	\$11,400.00	\$1.15	\$6,555.00	\$1.00	\$5,700.00
24	1,200.00	LF	6" PVC Waterline (Restrained)	\$47.00	\$56,400.00	\$55.00	\$66,000.00	\$45.00	\$54,000.00	\$37.00	\$44,400.00	\$48.30	\$57,960.00	\$65.00	\$78,000.00
25	2,300.00	LF	8" PVC Waterline (Restrained)	\$49.00	\$112,700.00 \$73,200.00	\$59.00 \$62.00	\$135,700.00	\$45.00	\$103,500.00 \$60,000.00	\$42.00 \$52.00	\$96,600.00	\$54.05 \$67.85	\$124,315.00	\$70.00	\$161,000.00
26	1,200.00	LF	12" PVC Waterline (Restrained)	\$61.00 \$99.00		\$62.00	\$74,400.00	\$50.00		\$52.00 \$77.00	\$62,400.00	\$67.85	\$81,420.00	\$100.00	\$120,000.00
27	100.00	LF LF	16" PVC Waterline (Restrained)		\$9,900.00	\$96.00 \$122.00	\$9,600.00	\$125.00	\$12,500.00 \$76,000.00	\$77.00	\$7,700.00	\$101.20 \$157.55	\$10,120.00	\$142.00	\$14,200.00
28 29	800.00 2.00	EA	24" PVC Waterline (Restrained) New 3/4" Short Unmetered Service	\$131.00 \$814.00	\$104,800.00 \$1,628.00	\$122.00	\$97,600.00 \$1,100.00	\$95.00 \$750.00		\$140.00 \$600.00	\$112,000.00 \$1,200.00	\$157.55 \$885.50	\$126,040.00 \$1,771.00	\$223.00 \$697.00	\$178,400.00 \$1,394.00
30	2.00	EA	New 3/4 Short Unmetered Service New 3/4" Long Unmetered Service	\$1,120.00	\$1,628.00	\$950.00	\$1,100.00	\$850.00	\$1,500.00 \$1,700.00	\$870.00	\$1,740.00	\$1,442.10	\$2,884.20	\$885.00	\$1,770.00
50	2.00	LA	110W 5/7 Long Chineteled Service	ψ1,120.00	Ψ4,440.00	Ψ/30.00	ψ1,700.00	Ψυ.υυ.υυ	ψ1,/00.00	ψ070.00	ψ1,/40.00	Ψ1,742.10	Ψ2,004.20	Ψυσυ.υυ	φ1,770.00

PROPOSAL: TIME & DATE:		Contract No.: C-10-022-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job No. 10-5004 & 10-5504 2010 Water & Sewer Construction Project - Package 2 2:00 p.m. February 19, 2010		Holloman Corporation 13730 IH 10 East Converse, TX 78109		R.L. Jones LP 18946 Redland Road San Antonio, TX 78259		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		Pronto Sandblasting & Coating & Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		National Power Rodding Corporation 2500 West Arthington Street Chicago, IL 60612		Jimerson Underground Inc.	
Water Bi	d Items	Unit of			Т		T		T		T				
Item No.	Estimate Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
31	45.00	EA	Relay 3/4" Short Service	\$810.00	\$36,450.00	\$600.00	\$27,000.00	\$800.00	\$36,000.00	\$640.00	\$28,800.00	\$928.05	\$41,762.25	\$806.00	\$36,270.00
32	40.00	EA	Relay 3/4" Long Service	\$1,120.00	\$44,800.00	\$900.00	\$36,000.00	\$900.00	\$36,000.00	\$900.00	\$36,000.00	\$1,482.35	\$59,294.00	\$995.00	\$39,800.00
33	2.00	EA	Relay 1" Short Service	\$1,420.00	\$2,840.00	\$600.00	\$1,200.00	\$850.00	\$1,700.00	\$1,100.00	\$2,200.00	\$899.30	\$1,798.60	\$778.00	\$1,556.00
34	2.00	EA	Relay 1" Long Service	\$2,690.00	\$5,380.00	\$1,100.00	\$2,200.00	\$950.00	\$1,900.00	\$1,100.00	\$2,200.00	\$1,512.25	\$3,024.50	\$1,024.00	\$2,048.00
35	2.00	EA	Relay 1.5" Short Service	\$2,730.00	\$5,460.00	\$1,000.00	\$2,000.00	\$1,050.00	\$2,100.00	\$1,200.00	\$2,400.00	\$1,343.20	\$2,686.40	\$982.00	\$1,964.00
36	2.00	EA	Relay 1.5" Long Service	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$1,350.00	\$2,700.00	\$1,500.00	\$3,000.00	\$2,242.50	\$4,485.00	\$1,392.00	\$2,784.00
37	2.00	EA	Relay 2" Short Service	\$2,910.00	\$5,820.00	\$1,200.00	\$2,400.00	\$1,450.00	\$2,900.00	\$1,400.00	\$2,800.00	\$1,534.10	\$3,068.20	\$1,407.00	\$2,814.00
38	2.00	EA	Relay 2" Long Service	\$3,350.00	\$6,700.00	\$2,000.00	\$4,000.00	\$1,850.00	\$3,700.00	\$2,000.00	\$4,000.00	\$3,269.45	\$6,538.90	\$2,067.00	\$4,134.00
39	5.00	EA	Relocate 3/4" Short Service	\$1,360.00	\$6,800.00	\$600.00	\$3,000.00	\$850.00	\$4,250.00	\$600.00	\$3,000.00	\$898.15	\$4,490.75	\$806.00	\$4,030.00
40	5.00	EA	Relocate 3/4" Long Service	\$1,480.00	\$7,400.00	\$900.00	\$4,500.00	\$950.00	\$4,750.00	\$900.00	\$4,500.00	\$1,432.90	\$7,164.50	\$995.00	\$4,975.00
41	3.00	EA	New 3/4" Short Service	\$1,360.00	\$4,080.00	\$500.00	\$1,500.00	\$850.00	\$2,550.00	\$600.00	\$1,800.00	\$793.50	\$2,380.50	\$694.00	\$2,082.00
42	3.00	EA	New 3/4" Long Service	\$1,480.00	\$4,440.00	\$900.00	\$2,700.00	\$950.00	\$2,850.00	\$2,200.00	\$6,600.00	\$1,293.75	\$3,881.25	\$787.00	\$2,361.00
43	10.00	EA	Customer Shut-off Valve	\$120.00	\$1,200.00	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$120.00	\$1,200.00	\$57.50	\$575.00	\$293.00	\$2,930.00
44	6.00	EA	6" Gate Valve	\$1,270.00	\$7,620.00	\$1,000.00	\$6,000.00	\$1,150.00	\$6,900.00	\$1,000.00	\$6,000.00	\$816.50	\$4,899.00	\$1,271.00	\$7,626.00
45	15.00	EA EA	8" Gate Valve 12" Gate Valve	\$1,580.00	\$23,700.00	\$1,300.00 \$2,200.00	\$19,500.00	\$1,450.00	\$21,750.00	\$1,400.00	\$21,000.00	\$1,167.25 \$2,109.10	\$17,508.75 \$6,327.30	\$1,607.00	\$24,105.00
46 47	3.00 1.00	EA	16" Gate Valve	\$3,630.00 \$8,700.00	\$10,890.00 \$8,700.00	\$6,000.00	\$6,600.00 \$6,000.00	\$2,250.00 \$5,900.00	\$6,750.00 \$5,900.00	\$2,600.00 \$7,500.00	\$7,800.00 \$7,500.00	\$61,863.55	\$61,863.55	\$2,507.00 \$6,708.00	\$7,521.00 \$6,708.00
48	1.00	EA	24" Butterfly Valve	\$15,340.00	\$15,340.00	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00	\$14,000.00	\$14,000.00	\$12,811.00	\$12,811.00	\$13,602.00	\$13,602.00
49	1.00	EA	6" X 6" Tee Cut in	\$2,780.00	\$2,780.00	\$2,500.00	\$2,500.00	\$1,850.00	\$1,850.00	\$1,200.00	\$1,200.00	\$215.05	\$215.05	\$1,511.00	\$1,511.00
50	1.00	EA	8" X 6" Tee Cut in	\$2,760.00	\$2,760.00	\$2,500.00	\$2,500.00	\$1,950.00	\$1,950.00	\$1,700.00	\$1,700.00	\$258.75	\$258.75	\$2,204.00	\$2,204.00
51	1.00	EA	8" X 8" Tee Cut in	\$3,010.00	\$3,010.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00	\$286.35	\$286.35	\$2,248.00	\$2,248.00
52	1.00	EA	16" X 8" Tapping Sleeve	\$5,910.00	\$5,910.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$1,191.40	\$1,191.40	\$3,588.00	\$3,588.00
53	1.00	EA	24" X 8" Tapping Sleeve	\$6,090.00	\$6,090.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$1,476.60	\$1,476.60	\$3,767.00	\$3,767.00
54	35.00	EA	Existing Meter & Meter Box Relocation	\$140.00	\$4,900.00	\$100.00	\$3,500.00	\$350.00	\$12,250.00	\$100.00	\$3,500.00	\$97.75	\$3,421.25	\$242.00	\$8,470.00
55	35.00	EA	Existing Meter & New Meter Box Relocation	\$200.00	\$7,000.00	\$150.00	\$5,250.00	\$350.00	\$12,250.00	\$150.00	\$5,250.00	\$172.50	\$6,037.50	\$311.00	\$10,885.00
56	70.00	EA	New Meter Box	\$140.00	\$9,800.00	\$60.00	\$4,200.00	\$350.00	\$24,500.00	\$120.00	\$8,400.00	\$147.20	\$10,304.00	\$250.00	\$17,500.00
57	8.00	EA	Fire Hydrant	\$4,580.00	\$36,640.00	\$5,000.00	\$40,000.00	\$4,000.00	\$32,000.00	\$3,200.00	\$25,600.00	\$2,923.30	\$23,386.40	\$4,947.00	\$39,576.00
58	4.00		Pipe Fittings, All Sizes & Types	\$1,090.00	\$4,360.00	\$7,000.00	\$28,000.00	\$6,000.00	\$24,000.00	\$5,000.00	\$20,000.00	\$4,830.00	\$19,320.00	\$4,235.00	\$16,940.00
59	10.00	EA	6" Water Tie-Ins	\$2,440.00	\$24,400.00	\$2,400.00	\$24,000.00	\$1,000.00	\$10,000.00	\$1,300.00	\$13,000.00	\$2,127.50	\$21,275.00	\$2,698.00	\$26,980.00
60	5.00	EA	8" Water Tie-Ins	\$2,030.00	\$10,150.00	\$2,400.00	\$12,000.00	\$1,200.00	\$6,000.00	\$1,600.00	\$8,000.00	\$2,587.50	\$12,937.50	\$2,875.00	\$14,375.00
61	2.00	EA	10" Water Tie-Ins	\$2,080.00	\$4,160.00	\$2,700.00	\$5,400.00	\$1,400.00	\$2,800.00	\$2,000.00	\$4,000.00	\$2,932.50	\$5,865.00	\$4,832.00	\$9,664.00
62 63	2.00	EA EA	12" Water Tie-Ins 16" Water Tie-Ins	\$2,120.00 \$4,190.00	\$4,240.00 \$4,190.00	\$2,700.00 \$3,000.00	\$5,400.00 \$3,000.00	\$1,600.00 \$2,000.00	\$3,200.00 \$2,000.00	\$2,600.00 \$3,200.00	\$5,200.00 \$3,200.00	\$3,047.50 \$3,536.25	\$6,095.00 \$3,536.25	\$5,009.00 \$7,502.00	\$10,018.00 \$7,502.00
64	1.00	EA	24" Water Tie-Ins	\$4,190.00	\$5,750.00	\$3,400.00	\$3,400.00	\$2,000.00	\$3,000.00	\$4,600.00	\$4,600.00	\$5,692.50	\$5,692.50	\$10,469.00	\$10,469.00
65	5.00	EA	Hydrostatic Testing	\$1,550.00	\$7,750.00	\$2,500.00	\$12,500.00	\$2,000.00	\$10,000.00	\$2,000.00	\$10,000.00	\$862.50	\$4,312.50	\$8,679.00	\$43,395.00
66	5.00	EA	2" Blow-off, Temporary	\$2,570.00	\$12,850.00	\$3,500.00	\$17,500.00	\$1,500.00	\$7,500.00	\$1,200.00	\$6,000.00	\$1,851.50	\$9,257.50	\$450.00	\$2,250.00
67	3.00	EA	2" Blow-off, Permanent	\$2,710.00	\$8,130.00	\$1,500.00	\$4,500.00	\$1,800.00	\$5,400.00	\$1,600.00	\$4,800.00	\$2,300.00	\$6,900.00	\$822.00	\$2,466.00
68	2.00	EA	1" Air Release Valve	\$2,410.00	\$4,820.00	\$1,400.00	\$2,800.00	\$2,500.00	\$5,000.00	\$1,600.00	\$3,200.00	\$1,357.00	\$2,714.00	\$1,314.00	\$2,628.00
69	40.00	LF	18" Steel Casing (Open Cut)	\$140.00	\$5,600.00	\$80.00	\$3,200.00	\$125.00	\$5,000.00	\$60.00	\$2,400.00	\$49.45	\$1,978.00	\$186.00	\$7,440.00
	1	1			. , ,		. ,		. ,		. ,		. /		

Solicitation No.: B-10-011-CM PROPOSAL: TIME & DATE:		Contract No.: C-10-022-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job No. 10-5004 & 10-5504 2010 Water & Sewer Construction Project - Package 2 2:00 p.m. February 19, 2010			Holloman Corporation 13730 IH 10 East Converse, TX 78109		R.L. Jones LP 18946 Redland Road San Antonio, TX 78259		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		Pronto Sandblasting & Coating & Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		National Power Rodding Corporation 2500 West Arthington Street Chicago, IL 60612		308 Brand Stafford, TX 77477
Water Bi	d Items														
		Unit of													
Item No.	Estimate Qty	Issue	Description		Total				Total	Unit Price	Total		Total		Total
70	40.00	LF	24" Steel Casing, (Open Cut)	\$170.00	\$6,800.00	\$90.00	\$3,600.00	\$175.00	\$7,000.00	\$80.00	\$3,200.00	\$54.05	\$2,162.00	\$203.00	\$8,120.00
71	40.00	LF	36" Steel Casing (Open Cut)	\$260.00	\$10,400.00	\$100.00	\$4,000.00	\$200.00	\$8,000.00	\$150.00	\$6,000.00	\$116.15	\$4,646.00	\$296.00	\$11,840.00
72	40.00	LF	6" Carrier Pipe	\$80.00	\$3,200.00	\$40.00	\$1,600.00	\$75.00	\$3,000.00	\$35.00	\$1,400.00	\$44.85	\$1,794.00	\$63.00	\$2,520.00
73	40.00	LF	8" Carrier Pipe	\$90.00	\$3,600.00	\$45.00	\$1,800.00	\$75.00	\$3,000.00	\$45.00	\$1,800.00	\$49.45	\$1,978.00	\$72.00	\$2,880.00
74	40.00	LF	12" Carrier Pipe	\$100.00	\$4,000.00	\$50.00	\$2,000.00	\$95.00	\$3,800.00	\$60.00	\$2,400.00	\$58.65	\$2,346.00	\$86.00	\$3,440.00
75 75	40.00	LF	16" Carrier Pipe	\$130.00	\$5,200.00	\$60.00	\$2,400.00	\$125.00	\$5,000.00	\$100.00	\$4,000.00	\$104.65	\$4,186.00	\$140.00	\$5,600.00
76	40.00	LF	24" Carrier Pipe	\$180.00	\$7,200.00	\$85.00	\$3,400.00	\$250.00	\$10,000.00	\$160.00	\$6,400.00	\$140.30	\$5,612.00	\$199.00	\$7,960.00
77	4.00	Е.	Removal, Transportation and Disposal of A.C.	# 2 110 00	¢0.440.00	#2 000 00	Φ1 2 000 00	#2 000 00	#12 000 00	¢1 200 00	Φ4 000 00	ΦΩ <2.7 0	¢2.450.00	¢1.210.00	Ø4.040.00
77	4.00	EA	Pipe Asbestos Abatement Work Plan	\$2,110.00	\$8,440.00	\$3,000.00	\$12,000.00	\$3,000.00	\$12,000.00	\$1,200.00	\$4,800.00	\$862.50	\$3,450.00	\$1,210.00	\$4,840.00
78	4.00	EA	Aspestos Abatement Work Plan	\$560.00	\$2,240.00	\$1,500.00	\$6,000.00	\$3,000.00	\$12,000.00	\$1,000.00	\$4,000.00	\$1,150.00	\$4,600.00	\$1,210.00	\$4,840.00
C :4	C D: 1 14														
Sanitary	Sewer Bid Item				45.5 0.00	* 1.00	*127 00	#10.00	44.250.00	42.00	*2= * 00	#0. 2 0	# 2 = 00	015 00	44.055.00
1	125.00	LF	Remove Concrete Curb	\$6.00	\$750.00	\$1.00	\$125.00	\$10.00	\$1,250.00	\$3.00	\$375.00	\$0.28	\$35.00	\$15.00	\$1,875.00
2	125.00	SF	Remove Sidewalks & Driveways	\$2.00	\$250.00	\$1.00	\$125.00	\$10.00	\$1,250.00	\$5.00	\$625.00	\$0.28	\$35.00	\$13.00	\$1,625.00
3	50.00	SF	Remove Miscellaneous Concrete	\$2.00	\$100.00	\$1.00	\$50.00	\$10.00	\$500.00	\$8.00	\$400.00	\$0.28	\$14.00	\$11.00	\$550.00
4	20.00	SY	Flexible Base (6" Compacted Depth)	\$11.00	\$220.00	\$20.00	\$400.00	\$25.00	\$500.00	\$18.00	\$360.00	\$18.98	\$379.60	\$24.00	\$480.00
5	20.00	GAL	Prime Coat	\$17.00	\$340.00	\$5.00	\$100.00	\$25.00	\$500.00	\$14.00	\$280.00	\$11.50	\$230.00	\$29.00	\$580.00
6	20.00	GAL	Tack Coat Hot Mix Asphaltic Pavement-Type D (2"	\$17.00	\$340.00	\$10.00	\$200.00	\$25.00	\$500.00	\$14.00	\$280.00	\$81.65	\$1,633.00	\$29.00	\$580.00
7	1 700 00	CM	=	\$9.00	¢15 200 00	\$9.00	\$12,600,00	¢15 00	¢25 500 00	\$22.00	¢27,400,00	¢20.75	¢40.07£.00	\$20.00	¢40.200.00
7	1,700.00	SY	Compacted Depth) Asphaltic Treated Base - 10 inches Compacted		\$15,300.00	\$8.00	\$13,600.00	\$15.00	\$25,500.00	\$22.00	\$37,400.00	\$28.75	\$48,875.00	\$29.00	\$49,300.00
8	1,500.00	SY	Depth	\$36.00	\$54,000.00	\$55.00	\$82,500.00	\$40.00	\$60,000.00	\$63.00	\$94,500.00	\$64.40	\$96,600.00	\$46.00	\$69,000.00
0	1,300.00	31	Salvaging, Hauling and Stockpiling	\$30.00	\$34,000.00	\$33.00	\$62,300.00	\$40.00	\$00,000.00	\$05.00	\$94,300.00	\$04.40	\$90,000.00	\$40.00	\$69,000.00
9	100.00	SY	Reclaimable Asphaltic Pavement (2")	\$4.00	\$400.00	\$12.00	\$1,200.00	\$100.00	\$10,000.00	\$18.00	\$1,800.00	\$2.30	\$230.00	\$18.00	\$1,800.00
10	50.00	CY	Flowable Fill	\$122.00	\$6,100.00	\$200.00	\$10,000.00	\$150.00	\$7,500.00	\$120.00	\$6,000.00	\$154.10	\$7,705.00	\$121.00	\$6,050.00
10	30.00	CI	Concrete Curb, Gutter, and Concrete Curb and	Ψ122.00	ψ0,100.00	Ψ200.00	Ψ10,000.00	φ130.00	ψ1,300.00	Ψ120.00	φ0,000.00	φ154.10	ψ1,103.00	Ψ121.00	ψ0,030.00
11	75.00	LF	Gutter	\$28.00	\$2,100.00	\$10.00	\$750.00	\$25.00	\$1,875.00	\$20.00	\$1,500.00	\$36.00	\$2,700.00	\$29.00	\$2,175.00
12	25.00		Concrete Sidewalks	\$84.00		\$30.00		\$75.00		\$80.00	\$2,000.00	\$81.65	\$2,041.25		
13	20.00	SY	Concrete Wheelchair Ramp	\$117.00	\$2,340.00	\$40.00	\$800.00	\$100.00	\$2,000.00	\$79.00	\$1,580.00	\$216.20	\$4,324.00	\$45.00	\$900.00
14	25.00	SY	Portland Cement Concrete Driveway	\$84.00	\$2,100.00	\$32.00	\$800.00	\$100.00	\$2,500.00	\$90.00	\$2,250.00	\$115.00	\$2,875.00	\$68.00	\$1,700.00
15	5.00	SY	Concrete Median	\$89.00	\$445.00	\$40.00	\$200.00	\$100.00	\$500.00	\$100.00	\$500.00	\$172.50	\$862.50	\$134.00	\$670.00
16	5.00	SY	Concrete Directional Island	\$106.00	\$530.00	\$40.00	\$200.00	\$250.00	\$1,250.00	\$100.00	\$500.00	\$172.50	\$862.50	\$134.00	\$670.00
17	10.00	SY	Concrete Riprap (5" Thick)	\$78.00	\$780.00	\$40.00	\$400.00	\$250.00	\$2,500.00	\$100.00	\$1,000.00	\$115.00	\$1,150.00	\$134.00	\$1,340.00
18	8.00	CY	Concrete Retaining Walls - Combination Type	\$134.00	\$1,072.00	\$500.00	\$4,000.00	\$1,000.00	\$8,000.00	\$700.00	\$5,600.00	\$690.00	\$5,520.00	\$575.00	\$4,600.00
			Replacing with Hot Mix Asphaltic Concrete				-								
19	50.00	SY	Pavement - Type B (5" Compacted Depth)	\$101.00	\$5,050.00	\$50.00	\$2,500.00	\$150.00	\$7,500.00	\$50.00	\$2,500.00	\$33.35	\$1,667.50	\$127.00	\$6,350.00
20	10.00	CY	Topsoil	\$101.00	\$1,230.00	\$20.00	\$2,300.00	\$130.00	\$1,000.00	\$25.00	\$2,300.00	\$23.00	\$1,667.30	\$127.00	\$0,330.00
20	10.00		торьон	φ123.00	φ1,430.00	φ∠0.00	\$200.00	φ100.00	φ1,000.00	\$25.00	\$450.00	φ43.00	\$430.00	φ∠4.00	φ 240.00

PROPOSAL: TIME & DATE: Water Bid Items		Contract No.: C-10-022-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job No. 10-5004 & 10-5504 2010 Water & Sewer Construction Project - Package 2 2:00 p.m. February 19, 2010		Holloman Corporation		R.L. Jones LP	18946 Redland Road San Antonio, TX 78259	Atlas Construction	312 Sunset Dr. Granite Shoals, TX 78654	Pronto Sandblasting & Coating	San Antonio, TX 78223	National Power Rodding	2500 West Arthington Street Chicago, IL 60612	Jimerson Underground Inc.	308 Brand Stafford, TX 77477
		Unit of													
	Estimate Qty	Issue	Description		Total				Total		Total		Total		Total
21	20.00	SY	Bermuda Sodding	\$6.00	\$120.00	\$8.00	\$160.00	\$25.00	\$500.00	\$30.00	\$600.00	\$17.25	\$345.00	\$27.00	\$540.00
22	20.00	SY	St. Augustine Sodding	\$6.00	\$120.00	\$8.00	\$160.00	\$25.00	\$500.00	\$15.00	\$300.00	\$17.25	\$345.00	\$27.00	\$540.00
23	5,900.00	LF	Trench Protection 8" PVC Gravity Sanitary Sewer Pipe, (0'-10'	\$1.00	\$5,900.00	\$2.00	\$11,800.00	\$1.00	\$5,900.00	\$2.00	\$11,800.00	\$1.15	\$6,785.00	\$1.00	\$5,900.00
24	2 000 00	I.E		¢50.00	¢1.62.400.00	¢<0.00	¢1.60.000.00	¢50.00	¢140,000,00	¢40.00	¢112.000.00	¢47.15	¢122.020.00	¢ 42.00	¢117 (00 00
24	2,800.00	LF	Cut) 8" PVC Gravity Sanitary Sewer Pipe, (10'-14'	\$58.00	\$162,400.00	\$60.00	\$168,000.00	\$50.00	\$140,000.00	\$40.00	\$112,000.00	\$47.15	\$132,020.00	\$42.00	\$117,600.00
25	400.00	1.17	Cut)	\$68.00	\$27,200,00	¢75.00	\$30,000.00	\$70.00	\$28,000.00	\$47.00	\$18,800.00	\$49.45	¢10.700.00	\$42.00	\$16,900,00
23	400.00	LF	8" PVC Gravity Sanitary Sewer Pipe, (14'-22'	\$08.00	\$27,200.00	\$75.00	\$30,000.00	\$70.00	\$28,000.00	\$47.00	\$18,800.00	\$49.43	\$19,780.00	\$42.00	\$16,800.00
26	400.00	LF	Cut)	\$84.00	\$33,600.00	\$80.00	\$32,000.00	\$100.00	\$40,000.00	\$70.00	\$28,000.00	\$83.95	\$33,580.00	\$58.00	\$23,200.00
20	400.00	LF	10" PVC Gravity Sanitary Sewer Pipe, (0'-10'	\$64.00	\$55,000.00	\$60.00	\$32,000.00	\$100.00	\$40,000.00	\$70.00	\$28,000.00	\$65.95	\$55,580.00	\$38.00	\$23,200.00
27	500.00	LF	Cut)	\$72.00	\$36,000.00	\$60.00	\$30,000.00	\$60.00	\$30,000.00	\$42.00	\$21,000.00	\$50.60	\$25,300.00	\$56.00	\$28,000.00
21	300.00	LI	12" PVC Gravity Sanitary Sewer Pipe, (0'-10'	\$72.00	\$30,000.00	\$00.00	\$30,000.00	\$00.00	\$30,000.00	\$42.00	\$21,000.00	\$30.00	\$23,300.00	\$30.00	\$28,000.00
28	300.00	LF	Cut)	\$75.00	\$22,500.00	\$66.00	\$19,800.00	\$65.00	\$19,500.00	\$48.00	\$14,400.00	\$54.05	\$16,215.00	\$61.00	\$18,300.00
20	300.00	Li	15" PVC Gravity Sanitary Sewer Pipe (0'-10'	\$75.00	\$22,300.00	Ψ00.00	\$17,000.00	ψ05.00	\$17,500.00	Ψ+0.00	φ14,400.00	ψυ0υ	φ10,213.00	ψ01.00	\$10,500.00
29	500.00	LF	Cut)	\$95.00	\$47,500.00	\$66.00	\$33,000.00	\$75.00	\$37,500.00	\$58.00	\$29,000.00	\$60.95	\$30,475.00	\$72.00	\$36,000.00
27	300.00	Li	24" PVC Gravity Sanitary Sewer Pipe (0'-10'	Ψ/3.00	φ+7,500.00	Ψ00.00	φ33,000.00	Ψ13.00	Ψ31,300.00	Ψ30.00	Ψ29,000.00	ψ00.73	ψ30,473.00	Ψ12.00	ψ30,000.00
30	1,000.00	LF	Cut)	\$112.00	\$112,000.00	\$70.00	\$70,000.00	\$90.00	\$90,000.00	\$84.00	\$84,000.00	\$94.30	\$94,300.00	\$107.00	\$107,000.00
31	2.00	EA	Sanitary Sewer Manhole Structure	\$6,647.00	\$13,294.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$6,500.00	\$13,000.00	\$2,610.50	\$5,221.00	\$3,570.00	\$7,140.00
32	16.00	EA	Sanitary Sewer Manhole (0'-6')	\$3,288.00	\$52,608.00	\$3,400.00	\$54,400.00	\$4,500.00	\$72,000.00	\$3,200.00	\$51,200.00	\$2,323.00	\$37,168.00	\$3,751.00	\$60,016.00
33	3.00	EA	Sanitary Sewer Drop Manhole (0'-6')	\$5,669.00	\$17,007.00	\$4,000.00	\$12,000.00	\$5,000.00	\$15,000.00	\$4,000.00	\$12,000.00	\$2,610.50	\$7,831.50	\$3,389.00	\$10,167.00
34	12.00	VF	Extra Deph Manhole (>6')	\$145.00	\$1,740.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$120.00	\$1,440.00	\$221.95	\$2,663.40	\$248.00	\$2,976.00
35	1,800.00	LF	Sanitary Sewer Laterals	\$24.00	\$43,200.00	\$36.00	\$64,800.00	\$25.00	\$45,000.00	\$36.00	\$64,800.00	\$59.80	\$107,640.00	\$39.00	\$70,200.00
36	65.00	EA	One-Way Sanitary Sewer Clean-out	\$261.00	\$16,965.00	\$400.00	\$26,000.00	\$550.00	\$35,750.00	\$250.00	\$16,250.00	\$253.00	\$16,445.00	\$291.00	\$18,915.00
37	50.00	LF	18"Steel Casing (Open Cut)	\$100.00	\$5,000.00	\$70.00	\$3,500.00	\$125.00	\$6,250.00	\$55.00	\$2,750.00	\$50.60	\$2,530.00	\$186.00	\$9,300.00
38	50.00	LF	24" Steel Casing (Open Cut)	\$125.00	\$6,250.00	\$80.00	\$4,000.00	\$175.00	\$8,750.00	\$71.00	\$3,550.00	\$58.65	\$2,932.50	\$203.00	\$10,150.00
39	50.00	LF	36" Steel Casing (Open Cut)	\$202.00	\$10,100.00	\$100.00	\$5,000.00	\$200.00	\$10,000.00	\$140.00	\$7,000.00	\$118.45	\$5,922.50	\$296.00	\$14,800.00
40	40.00	LF	8" Carrier Pipe	\$67.00	\$2,680.00	\$40.00	\$1,600.00	\$75.00	\$3,000.00	\$40.00	\$1,600.00	\$46.00	\$1,840.00	\$65.00	\$2,600.00
41	40.00	LF	10" Carrier Pipe	\$74.00	\$2,960.00	\$45.00	\$1,800.00	\$95.00	\$3,800.00	\$50.00	\$2,000.00	\$49.45	\$1,978.00	\$69.00	\$2,760.00
42	40.00	LF	12" Carrier Pipe	\$79.00	\$3,160.00	\$50.00	\$2,000.00	\$110.00	\$4,400.00	\$60.00	\$2,400.00	\$55.20	\$2,208.00	\$81.00	\$3,240.00
43	40.00	LF	15" Carrier Pipe	\$78.00	\$3,120.00	\$55.00	\$2,200.00	\$125.00	\$5,000.00	\$70.00	\$2,800.00	\$73.60	\$2,944.00	\$79.00	\$3,160.00
44	40.00	LF	24" Carrier Pipe	\$141.00	\$5,640.00	\$60.00	\$2,400.00	\$150.00	\$6,000.00	\$100.00	\$4,000.00	\$102.35	\$4,094.00	\$115.00	\$4,600.00
4.5	20.00	CV	Concrete Encasement, Cradles, Saddles and	¢124.00	#2 *20 *20	¢150.00	фа 000 co	# 2 50.00	Φ ε 000 00	¢1.40.00	#2 000 00	фо 2 ос	Ø1 040 CC	¢1.00.00	¢2 200 00
45	20.00 12.00	CY VF	Collars Vertical Stacks	\$134.00 \$446.00	\$2,680.00	\$150.00 \$24.00	\$3,000.00 \$288.00	\$250.00 \$100.00	\$5,000.00	\$140.00 \$70.00	\$2,800.00 \$840.00	\$92.00 \$14.95	\$1,840.00 \$179.40	\$169.00 \$47.00	\$3,380.00 \$564.00
46 47	100.00	LF	Abandonment of Sanitary Sewer Main	\$446.00	\$5,352.00 \$900.00	\$24.00	\$288.00	\$100.00	\$1,200.00 \$2,500.00	\$12.00	\$1,200.00	\$14.95 \$5.75	\$179.40	\$47.00	\$9,700.00
48	2.00	EA	Abandonment of Sanitary Sewer Manholes	\$555.00	\$1,110.00	\$300.00	\$600.00	\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$862.50	\$1,725.00	\$787.00	\$1,574.00
49	4.00	EA	Bypass Pumping	\$2,790.00	\$1,110.00	\$3,000.00	\$12,000.00	\$3,500.00	\$14,000.00	\$20,000.00	\$80,000.00	\$4,025.00	\$16,100.00	\$9,680.00	\$38,720.00
73	4.00	LA	DJP4655 I umping	Ψ2,190.00	Ψ11,100.00	ψ5,000.00	Ψ12,000.00	ψ5,500.00	Ψ17,000.00	φ20,000.00	ψου,υυυ.υυ	ψτ,υ23.00	ψ10,100.00	Ψ2,000.00	ψ50,720.00
50	500.00	LF	Pre Sewer Main Television Inspection (8"-24")	\$2.00	\$1,000.00	\$4.00	\$2,000.00	\$5.00	\$2,500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$7.00	\$3,500.00

PROPOSAL: TIME & DATE:		CM Contract No.: C-10-022-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job No. 10-5004 & 10-5504 2010 Water & Sewer Construction Project - Package 2 2:00 p.m. February 19, 2010		Holloman Corporation 13730 IH 10 East Converse, TX 78109		R.L. Jones LP 18946 Redland Road San Antonio, TX 78259		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		Pronto Sandblasting & Coating & Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		National Power Rodding Corporation 2500 West Arthington Street Chicago, IL 60612		Jimerson Underground Inc. 308 Brand Stafford, TX 77477	
Water Bio	l Items	Unit of													
Item No.	Estimate Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
51	4,700.00	LF	Post Sewer Main Television Inspection (8"-24")	\$2.00	\$9,400.00	\$5.00	\$23,500.00	\$5.00	\$23,500.00	\$1.50	\$7,050.00	\$2.00	\$9,400.00	\$4.00	\$18,800.00
Traffic Co	ontrol Bid Item	15													
1	12.00	МО	Barricades, Signs, and Traffic Handling (includes water and sewer work per work order)	\$1,674.00	\$20,088.00	\$3,000.00	\$36,000.00	\$2,500.00	\$30,000.00	\$9,000.00	\$108,000.00	\$2,500.00	\$30,000.00	\$1,815.00	\$21,780.00
			Total Bid Including Addendum No. 1		\$1,698,291.00		\$1,702,378.00		\$1,730,675.00		\$1,746,200.00		\$1,863,414.30		\$2,013,886.00
CALENDA	R DAYS TO CO	OMPLETE			365		365		365		365		365		365
	•			•	[1]	•	[2]	•	[3]	•	[4]		[5]	•	[6]